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Working MathematiCally
1) Our family equally shared the contents of the lolly bag. If
there are 6 people in the family and 48 lollies in the bag, W
how many lollies did we each get?
2)& I had 186 goldfish in my pond. It was getting too crowded for
&&ﬁ% them so we gave some to Zac and Amy. Now we each have the
R same amount. How many fish left in the pond?

3) We have 165 videos packed on shelves near the TV. If they
are placed evenly on all 5 shelves, how many per shelf?

4) The packaging information says there are 156 biscuits in
the whole box. If they are packed in 3 separate stay fresh@
bags. How many biscuits in each bag?

5) 96 students lined up in 4 even lines. How many per line?

Copyright 2013 © Studyladder Www.studyladder. com




